eTable 1

Association between co-variates and urinary BPA concentration (ng/mL)

Univariate Stepwise

r P-value Standardized B = SE  P-value
Age (years) -0.17 <0.001 -0.19 +0.001 <0.001
Sex (male=0, female=1) -0.12 <0.001 -0.091 +0.017 <0.001
High education attainment (> 9 years) 0.10 <0.001 - -
Current smoker (yes=1, no=0) 0.12 <0.001 - -
Current drinker (yes=1, no=0) 0.093 <0.001 0.039 +=0.011 0.037
BMI (kg/m?) 0.037 0.031 0.055 £0.002 0.002
Total cholesterol (mmol/L) -0.032 0.066 - -
LDL-C (mmol/L) 0.006 0.74 - -
HDL-C (mmol/L) -0.078 <0.001 -0.050 £0.011 0.037
Triglycerides (mmol/L) 0.007 0.71 - -
Urinary creatinine (umol/L) -0.080 <0.001 -0.062 £0.002 <0.001

r, Pearson correlation coefficient; 3, regression coefficient.



